Mathematics

## Research article

# $\Omega$-result for the index of composition of an integral ideal 

Jing Huang ${ }^{1}$, Wenguang Zhai ${ }^{2}$ and Deyu Zhang ${ }^{1, *}$<br>${ }^{1}$ School of Mathematics and Statistics, Shandong Normal University, Jinan 250014, Shandong, P. R. China<br>${ }^{2}$ Department of Mathematics, China University of Mining and Technology, Beijing 100083, P. R. China

* Correspondence: Email: zdy_78@hotmail.com.


#### Abstract

Every nonzero integral ideal can be expressed as the product of finite prime ideals in Dedekind domain. For each integral ideal $\mathfrak{A}$, it is essential to measure the multiplicity of its prime ideal factors. We define $\lambda(\mathfrak{H}):=\frac{\log N(\mathfrak{Y})}{\log \gamma(\mathfrak{2 l})}$ to be the index of composition of $\mathfrak{A}$, where $\gamma(\mathfrak{l})=\prod_{\mathfrak{F} \mid \mathscr{I}} N(\mathfrak{P})$ and $N(\mathfrak{H})$ is the norm of ideal $\mathfrak{A}$. In this paper, we obtain an $\Omega$-result for the mean value of the index of composition of integral ideal.


Keywords: index of composition; asymptotic formula; prime ideal
Mathematics Subject Classification: 11N37

## 1. Introduction

Let $K$ be an algebraic number filed of degree $d$ and $O_{K}$ be the ring of integers of $K$. For each integral ideal $\mathfrak{A} \in O_{K}, \mathfrak{A}=\mathfrak{P}_{1}^{e_{1}} \cdots \mathfrak{P}_{g}^{e_{g}}$, where the $\mathfrak{P}_{i}(i=1, \ldots, g)$ are prime ideals of $O_{K}$, this expression is unique up to the order of the factors. Motivated by [17], we define $\lambda(\mathfrak{H}):=\frac{\log N(2)}{\log \gamma(2)}$ be the index of composition of $\mathfrak{A}$, where $N(\mathfrak{H})$ is the norm of ideal $\mathfrak{A}$ and $\gamma(\mathfrak{H})=\prod_{\mathfrak{F} \mid \mathfrak{I}} N(\mathfrak{P})$. We write $\lambda(\mathfrak{H})=\gamma(\mathfrak{H})=1$ if $\mathfrak{A}=O_{K}$. The index of composition of an integral ideal measures the multiplicity of its prime factors.

Before stating our main results, we introduce some notations. The Dedekind zeta-function for the field $K$ is defined by

$$
\zeta_{K}(s)=\sum_{\mathfrak{M} \neq 0} \frac{1}{N^{s}(\mathfrak{H})}=\sum_{n=1}^{\infty} \frac{a_{n}}{n^{s}}, \mathfrak{R} s>1,
$$

where $a_{n}$ is the number of integral ideals of $K$ with norm $n . \zeta_{K}(s)$ can be analytically continued to the
whole complex plane, $s=1$ is a simple pole with residue

$$
\rho_{K}=\frac{2^{r_{1}}(2 \pi)^{r_{2}} R_{K}}{\omega_{K} \sqrt{|d(K)|}},
$$

where $r_{1}, r_{2}$ denote the number of real and complex places respectively, $R_{K}$ is the regular of $K, d(K)$ is the discriminant of $K$ and $\omega_{K}$ is the order of the group of units. We know that $a_{n} \leq(\tau(n))^{d}$, where $\tau(n)$ is the number of divisors of $n$. Let

$$
\begin{equation*}
C(x):=\sum_{n \leq x} a_{n}=\rho_{K} x+\Delta(x) . \tag{1.1}
\end{equation*}
$$

Then (see $[5,8,9,11]$ )

$$
\Delta(x)=O\left(x^{\theta_{d}+\epsilon}\right),
$$

where

$$
\theta_{d}:= \begin{cases}\frac{131}{416}, & \text { if } d=2, \\ \frac{43}{96}, & \text { if } d=3, \\ 1-\frac{2}{d}+\frac{8}{d(5 d+2)}, & \text { if } d=4,5,6, \\ 1-\frac{2}{d}+\frac{3}{2 d^{2}}, & \text { if } d \geq 7 \\ 1-\frac{3}{d+6}, & \text { if } d \geq 10\end{cases}
$$

In [15], Zhang and Zhai obtained a series of results about the mean value of $\lambda^{ \pm k}(\mathfrak{H})$. The results imply that the average order of $\lambda(\mathfrak{H})$ is $\rho_{K}$. Also they found that the mean value of $\lambda^{-1}(\mathfrak{H})$ has a close connection with the zero free region of $\zeta_{K}(s)$ and got that

$$
\sum_{N(2) \leq x} \lambda^{-1}(\mathfrak{A})=\rho_{K} x+C_{1} \int_{2}^{x} \frac{1}{\log z} d z+O_{K}\left(x^{\vartheta_{d}+\varepsilon}\right),
$$

where

$$
\vartheta_{d}:= \begin{cases}\frac{1}{2}, & \text { if } d=2,3 \\ 1-\frac{2}{d}+\frac{8}{d(5 d+2)}, & \text { if } d=4,5,6, \\ 1-\frac{2}{d}+\frac{3}{2 d^{2}}, & \text { if } d \geq 7 .\end{cases}
$$

If $K$ is a quadratic or cubic number field, Zhang and Zhai [16] proved the asymptotic formula

$$
\begin{equation*}
\sum_{N(2)) \leq x} \lambda^{-1}(\mathfrak{H})=\rho_{K} x+C_{1} \int_{2}^{x} \frac{1}{\log z} d z+C_{2} \int_{2}^{x} \frac{z^{-\frac{1}{2}}}{\log z} d z+O_{K}(R(x)) \tag{1.2}
\end{equation*}
$$

where

$$
R(x)=x^{\frac{1}{2}} \exp \left(-c \log ^{\frac{1}{3}} x(\log \log x)^{-\frac{1}{3}}\right),
$$

and $C_{1}, C_{2}$ are computable constants, $c>0$ is a positive constant. Assuming the Riemann Hypothesis for $\zeta_{K}(s)$ is true, Zhang and Zhai [16] used the estimation of exponential sum and convolution method to get

$$
R(x)= \begin{cases}x^{5 / 12+\varepsilon}, & \text { if } d=2, \\ x^{73 / 156+\varepsilon}, & \text { if } d=3 .\end{cases}
$$

It is natural to consider how well the main term of $\sum_{N(2) \leq x} \lambda^{-1}(\mathfrak{A})$ approximates it, that is, what can be said about $\Omega$-result (for example, see $[6,7,18]$ ). In this paper, we shall get the following result.

Theorem 1.1. Let $K$ be a quadratic or cubic number field. Then we have

$$
\begin{aligned}
\sum_{N(2)) \leq x} \lambda^{-1}(\mathfrak{H})= & \rho_{K} x+C_{1} \int_{2}^{x} \frac{1}{\log z} d z+C_{2} \int_{2}^{x} \frac{z^{-\frac{1}{2}}}{\log z} d z \\
& +C_{3} \int_{2}^{x} \frac{z^{-\frac{2}{3}}}{\log z} d z+R_{0}(x)
\end{aligned}
$$

where $C_{i}(i=1,2,3)$ are computable constants and the error term $R_{0}(x)$ satisfies

$$
\begin{equation*}
\int_{1}^{Y} R_{0}(x) d x=\Omega\left(\frac{Y^{\frac{5}{4}}}{\log Y}\right) . \tag{1.3}
\end{equation*}
$$

Remark. In order to prove Theorem 1.1, we will follow the line in Pintz [12] and Nowak [10], using Mellin transform and constructing an auxiliary function $g(s)$ with some properties. Because $\lambda(\mathfrak{H})$ is not multiplicative, it is not easy to get the generating series of $\lambda^{-1}(\mathfrak{H})$. Instead we shall study the mean value of $\sum_{N(\mathfrak{N}) \leq x} \log \gamma(\mathfrak{A})$. In fact, as a function of $z, \gamma^{z}(\mathfrak{A})$ is regular for $|z| \leq \varepsilon$, then we can differentiate it and set $z=0$ to get the mean value and generating series for $\log \gamma(\mathfrak{A})$. Theorem 1.1 can follows from the lower bound for the error term of $\sum_{N(\mathfrak{R}) \leq x} \log \gamma(\mathfrak{A})$.

It is easy to see that (1.3) implies the following $\Omega$-result.
Theorem 1.2. Let $K$ be a quadratic or cubic number field. Then we have

$$
R_{0}(x)=\Omega\left(\frac{x^{1 / 4}}{\log x}\right) .
$$

Notation. Throughout the paper $\varepsilon$ always denotes a fixed but sufficiently small positive constant. We write $f(x) \ll g(x)$, or $f(x)=O(g(x))$, to mean that $|f(x)| \leq C g(x)$. $\sum_{n \sim N}$ denote that the sum over $N<n \leq 2 N . f(x)=\Omega(g(x))$ means that there exists a suitable constant $C>0$ such that $|f(x)|>C g(x)$ holds for a sequence $x=x_{n}$ such that $\lim _{n \rightarrow \infty} x_{n}=\infty$.

## 2. The mean value of $\log \gamma(\mathfrak{H})$

In this section, suppose $\varepsilon>0$ is a small positive constant, $z$ is a complex number such that $|z| \leq \varepsilon$. Let $s=\sigma+i t$ be a complex number with $\mathfrak{R}(s-z)>1$. Define

$$
G(s, z):=\sum_{\mathfrak{U}} \gamma^{z}(\mathfrak{A}) N^{-s}(\mathfrak{H}) .
$$

Lemma 2.1. For $\mid z \leq \varepsilon$, we have

$$
G(s, z)=\frac{\zeta_{K}(s-z) \zeta_{K}(2 s-z) \zeta_{K}(3 s-z) \zeta_{K}(4 s-z) \zeta_{K}(4 s-3 z)}{\zeta_{K}(2 s-2 z) \zeta_{K}(3 s-2 z) \zeta_{K}(4 s-2 z)} G_{1}(s, z)
$$

where $G_{1}(s, z)$ can be expanded into a Dirichlet series of $s$, which is absolutely convergent for $\sigma>\frac{1}{5}+\varepsilon$.

Proof. By Euler product representation, we have

$$
G(s, z)=\prod_{\mathfrak{P}}\left(1+\frac{N^{z}(\mathfrak{P})}{N^{s}(\mathfrak{P})}+\frac{N^{z}(\mathfrak{P})}{N^{2 s}(\mathfrak{P})}+\frac{N^{z}(\mathfrak{P})}{N^{s s}(\mathfrak{P})}+\cdots\right)=\zeta_{K}(s-z) G^{*}(s, z),
$$

where $\zeta_{K}(s)$ is the Dedekind $\zeta$-function, and

$$
\begin{aligned}
G^{*}(s, z): & =\prod_{\mathfrak{P}}\left(1-\frac{N^{z}(\mathfrak{P})}{N^{s}(\mathfrak{P})}\right) \prod_{\mathfrak{B}}\left(1+\frac{N^{z}(\mathfrak{P})}{N^{s}(\mathfrak{P})}+\frac{N^{z}(\mathfrak{P})}{N^{2 s}(\mathfrak{P})}+\frac{N^{z}(\mathfrak{P})}{N^{3 s}(\mathfrak{P})}+\cdots\right) \\
& =\zeta_{K}(2 s-z) G_{1}^{*}(s, z),
\end{aligned}
$$

where

$$
G_{1}^{*}(s, z)=\prod_{\mathfrak{P}}\left(1-\frac{N^{2 z}(\mathfrak{P})}{N^{2 s}(\mathfrak{P})}-\frac{N^{2 z}(\mathfrak{P})}{N^{4 s}(\mathfrak{P})}+\frac{N^{3 z}(\mathfrak{P})}{N^{4 s}(\mathfrak{P})}-\cdots\right) .
$$

Arguing similarly, we can get

$$
G(s, z)=\frac{\zeta_{K}(s-z) \zeta_{K}(2 s-z) \zeta_{K}(3 s-z) \zeta_{K}(4 s-z) \zeta_{K}(4 s-3 z)}{\zeta_{K}(2 s-2 z) \zeta_{K}(3 s-2 z) \zeta_{K}(4 s-2 z)} G_{1}(s, z),
$$

where

$$
G_{1}(s, z)=\prod_{\mathfrak{P}}\left(1+\frac{N^{z}(\mathfrak{P})}{N^{5 s}(\mathfrak{P})}-\frac{N^{2 z}(\mathfrak{P})}{N^{5 s}(\mathfrak{P})}+\frac{N^{3 z}(\mathfrak{P})}{N^{5 s}(\mathfrak{P})}-\cdots\right) .
$$

By the similar method as before, we know that $G_{1}(s, z)$ can be written as the product of Dedekind $\zeta$ functions. If we note that $|z| \leq \varepsilon$, then $G_{1}(s, z)$ can be expanded to a Dirichlet series, which is absolutely convergent for $\mathfrak{R}_{s}>1 / 5+\varepsilon$.

To obtain the mean value of $\sum_{N(\mathfrak{l}) \leq x} \log \gamma(\mathfrak{A})$, we need the following Lemma.
Lemma 2.2. If $\sigma>1$, then

$$
\begin{equation*}
\zeta_{K}(s) \ll \log (|t|+2) . \tag{2.1}
\end{equation*}
$$

Let $k \geq 0$ be an integer. Uniformly for $\frac{1}{2} \leq \sigma \leq 1$, we have

$$
\begin{equation*}
\zeta_{K}^{(k)}(s) \ll(|t|+2)^{\frac{d}{3}(1-\sigma)} \log ^{k+1}(|t|+2), \tag{2.2}
\end{equation*}
$$

where $\zeta_{K}^{(k)}(s)$ is the $k$-th derivative of $\zeta_{K}(s)$.
Proof. The order of $\zeta_{K}(s)$ can be found in [16, Lemma 2.3]. For the cases $k \geq 1$ of (2.2), we use the Cauchy derivative formula to get

$$
\zeta_{K}^{(k)}(s)=\frac{k!}{2 \pi i} \int_{|z-s|=R} \frac{\zeta_{K}(z)}{(z-s)^{k+1}} d z .
$$

Let $z=s+R e^{i \theta}$ and $R=1 / \log (|t|+2)$. Then the above formula can be written as

$$
\zeta_{K}^{(k)}(s)=\frac{k!}{2 \pi} \int_{0}^{2 \pi} \frac{\zeta_{K}\left(s+R e^{i \theta}\right)}{\left(R e^{i \theta}\right)^{k}} d \theta \ll \log ^{k}(|t|+2)\left|\zeta_{K}\left(s+R e^{i \theta}\right)\right| .
$$

Therefore Lemma 2.2 follows from the order of $\zeta_{K}(s)(k=0$ in (2.2)).

Proposition 2.3. We have

$$
\sum_{N(\mathfrak{2}) \leq x} \log \gamma(\mathfrak{A l})=\rho_{K} x \log x+c_{1} x+c_{2} x^{\frac{1}{2}}+c_{3} x^{\frac{1}{3}}+E_{0}(x)
$$

where $c_{i}(1 \leq i \leq 3)$ are computable constants, and for $Y \rightarrow \infty$, the error term $E_{0}(x)$ satisfies

$$
\int_{1}^{Y}\left|E_{0}(x)\right| d x \gg Y^{\frac{5}{4}}
$$

Proof. By Lemma 2.1, we have

$$
\begin{align*}
G(s, z) & =\sum_{\mathfrak{2}} \gamma^{z}(\mathfrak{H}) N^{-s}(\mathfrak{H}) \\
& =\frac{\zeta_{K}(s-z) \zeta_{K}(2 s-z) \zeta_{K}(3 s-z) \zeta_{K}(4 s-z) \zeta_{K}(4 s-3 z)}{\zeta_{K}(2 s-2 z) \zeta_{K}(3 s-2 z) \zeta_{K}(4 s-2 z)} G_{1}(s, z) . \tag{2.3}
\end{align*}
$$

Firstly, we take the first partial derivative with respect to $z$ form both sides of (2.3), and put $z=0$ to get

$$
\begin{aligned}
\left.\frac{\partial G(s, z)}{\partial z}\right|_{z=0} & =\left.\sum_{\mathfrak{N}} \frac{\gamma^{z}(\mathfrak{A}) \log \gamma(\mathfrak{A})}{N^{s}(\mathfrak{A})}\right|_{z=0}=\sum_{\mathfrak{N}} \frac{\log \gamma(\mathfrak{A})}{N^{s}(\mathfrak{A})} \\
& =\frac{\zeta_{K}(s) \zeta_{K}(4 s) G_{1}(s, 0)\left\{\zeta_{K}^{\prime}(2 s) \zeta_{K}(3 s)+\zeta_{K}(2 s) \zeta_{K}^{\prime}(3 s)\right\}}{\zeta_{K}(2 s) \zeta_{K}(3 s)}+G_{2}(s),
\end{aligned}
$$

where

$$
G_{2}(s)=\zeta_{K}(s) \zeta_{K}(4 s) G_{1}^{\prime}(s, 0)-\zeta_{K}^{\prime}(s) \zeta_{K}(4 s) G_{1}(s, 0)-2 \zeta_{K}(s) \zeta_{K}^{\prime}(4 s) G_{1}(s, 0),
$$

and $G_{1}(s, 0)$ is absolutely convergent for $\mathfrak{R} s>\frac{1}{5}+\varepsilon$. We can easily see that $\sum_{\mathfrak{r}} \frac{\log \gamma(\mathfrak{( 2 )}}{N^{s}(\Omega)}$ has a pole of order 2 at $s=1$ and poles of order 1 at $s=\frac{1}{2}, \frac{1}{3}$, which prompts us to consider that $\sum_{N(\mathfrak{2 l )} \leq x} \log \gamma(\mathfrak{H})$ should have the following asymptotic formula

$$
\sum_{N(\mathfrak{2}) \leq x} \log \gamma(\mathfrak{A})=\rho_{K} x \log x+c_{1} x+c_{2} x^{\frac{1}{2}}+c_{3} x^{\frac{1}{3}}+E_{0}(x),
$$

where $E_{0}(x)=O\left(x^{\frac{1}{4}+\varepsilon}\right)$.
Following the idea of Pintz [12] and Nowak [10], we use the Mellin transform to get

$$
\begin{align*}
H(s):= & \int_{1}^{\infty} E_{0}(x) x^{-s-1} d x \\
= & \int_{1}^{\infty}\left(\sum_{N(2) \leq x} \log \gamma(\mathfrak{H})-\rho_{K} x \log x+c_{1} x+c_{2} x^{\frac{1}{2}}+c_{3} x^{\frac{1}{3}}\right)  \tag{2.4}\\
& \times x^{-s-1} d x
\end{align*}
$$

for $\mathfrak{R} s>1$. Now we deal with the first term of (2.4). By the partial integration and (2.4), we have

$$
\begin{aligned}
\int_{1}^{\infty} & \sum_{N(\mathfrak{N}) \leq x} \frac{\log \gamma(\mathfrak{A})}{x^{s+1}} d x \\
& =-\frac{1}{s}\left(\left.\sum_{N(\mathfrak{2}) \leq x} \log \gamma(\mathfrak{A}) x^{-s}\right|_{1} ^{\infty}-\int_{1}^{\infty} x^{-s} d\left(\sum_{N(\mathfrak{2}) \leq x} \log \gamma(\mathfrak{A})\right)\right) \\
& =\frac{1}{s} \sum_{\mathfrak{Q}} \frac{\log \gamma(\mathfrak{A})}{N^{s+1}(\mathfrak{A})} \\
& =\frac{\zeta_{K}(s) \zeta_{K}(4 s) G_{1}(s, 0)\left(\zeta_{K}^{\prime}(2 s) \zeta_{K}(3 s)+\zeta(2 s) \zeta_{K}^{\prime}(3 s)\right)}{s \zeta_{K}(2 s) \zeta_{K}(3 s)}+\frac{G_{2}(s)}{s} .
\end{aligned}
$$

Let $K(s)=\zeta_{K}(s) \zeta_{K}(4 s) G_{1}(s, 0)\left(\zeta_{K}^{\prime}(2 s) \zeta_{K}(3 s)+\zeta(2 s) \zeta_{K}^{\prime}(3 s)\right)$. After computing another four terms of (2.4), we can get

$$
\begin{aligned}
H(s) & =\frac{K(s)}{s \zeta_{K}(2 s) \zeta_{K}(3 s)}+\frac{G_{2}(s)}{s}-\frac{\rho_{K}}{(s-1)^{2}}-\frac{c_{1}}{s-1}-\frac{c_{2}}{s-\frac{1}{2}}-\frac{c_{3}}{s-\frac{1}{3}} \\
& =\frac{F(s)}{s(s-1)^{2} \zeta_{K}(2 s) \zeta_{K}(3 s)(2 s-1)^{2}(3 s-1)^{2}(4 s-1)^{2}},
\end{aligned}
$$

where

$$
\begin{aligned}
F(s)= & \left\{K(s)+G_{2}(s) \zeta_{K}(2 s) \zeta_{K}(3 s)\right\}(s-1)^{2}(2 s-1)^{2}(3 s-1)^{2}(4 s-1)^{2} \\
& -s \zeta_{K}(2 s) \zeta_{K}(3 s)(2 s-1)(3 s-1)(4 s-1)^{2} M(s),
\end{aligned}
$$

here $M(s)=(2 s-1)(3 s-1)\left(\rho_{K}+c_{1}(s-1)\right)+(s-1)^{2}\left(2 c_{2}(3 s-1)+3 c_{3}(2 s-1)\right)$. It is easy to see that $F(s)$ is an entire function for $\mathfrak{R} s>\frac{1}{5}+\epsilon$. We choose $z_{0}=\frac{1}{4}+i \beta_{0}$, according to the results of [1] (or $[2-4,13,14]$ ), we get $2 z_{0}$ is a single zero of the Dedekind $\zeta$-function and $\zeta_{K}\left(z_{0}\right) \zeta_{K}\left(3 z_{0}\right) G_{1}\left(z_{0}, 0\right) \neq 0$. In addition,

$$
\zeta_{K}^{\prime}\left(2 z_{0}\right) \neq 0, \zeta_{K}\left(4 z_{0}\right)=\zeta_{K}\left(1+i 4 \beta_{0}\right) \neq 0 .
$$

We write

$$
g(s):=\frac{s(s-1)^{2} \zeta_{K}(2 s)(2 s-1)^{2} \zeta_{K}(3 s)(3 s-1)^{2}(4 s-1)^{2}}{\left(s-z_{0}\right)(s+2)^{13}}
$$

which is regular in $\mathfrak{R} s>-2$, and

$$
g(s) H(s)=\frac{F(s)}{\left(s-z_{0}\right)(s+2)^{13}}
$$

is regular in $\mathfrak{R} s>\frac{1}{5}+\epsilon$ apart from a simple pole at $s=z_{0}$, since

$$
\begin{aligned}
F\left(z_{0}\right)= & \zeta_{K}\left(z_{0}\right) \zeta_{K}^{\prime}\left(2 z_{0}\right) \zeta_{K}\left(3 z_{0}\right) \zeta_{K}\left(4 z_{0}\right) G_{1}\left(z_{0}, 0\right) \\
& \times\left(z_{0}-1\right)^{2}\left(2 z_{0}-1\right)^{2}\left(3 z_{0}-1\right)^{2}\left(4 z_{0}-1\right)^{2} \neq 0
\end{aligned}
$$

Using the order of $\zeta_{K}(s)$ and $\zeta_{K}^{\prime}(s)$ (Lemma 2.2), we know that the integrals

$$
\int_{\beta-i \infty}^{\beta+i \infty}|g(s)| d s, \int_{\beta-i \infty}^{\beta+i \infty}|g(s) H(s)| d s
$$

converge for $\beta \in\left\{\frac{1}{5}, 2\right\}$ as $|t| \rightarrow \infty$. Now, for $\eta>0$, we define a weight function

$$
\omega(\eta):=\int_{2-i \infty}^{2+i \infty} g(s) \eta^{s+1} d s
$$

which satisfies

$$
\omega(\eta)= \begin{cases}O(1), & \eta \geq 1  \tag{2.5}\\ 0, & \text { if } 0<\eta<1\end{cases}
$$

Therefore,

$$
\begin{aligned}
V(Y): & =\frac{1}{Y} \int_{1}^{\infty} E_{0}(x) \omega\left(\frac{Y}{x} d x\right) \\
& =\frac{1}{Y} \int_{1}^{\infty} E_{0}(x)\left(\int_{2-i \infty}^{2+i \infty} g(s)\left(\frac{Y}{x}\right)^{s+1} d s\right) d x \\
& =\int_{2-i \infty}^{2+i \infty} g(s) Y^{s}\left(\int_{1}^{\infty} E_{0}(x) x^{-s-1} d x\right) d s \\
& =\int_{2-i \infty}^{2+i \infty} g(s) H(s) Y^{s} d s .
\end{aligned}
$$

For $Y$ large, we shift the line of integration to $\mathfrak{R} s=\frac{1}{5}$, then we have

$$
\begin{aligned}
V(Y) & =2 \pi i \operatorname{Res}_{s=z_{0}}\left(g(s) H(s) Y^{s}\right)+\int_{\frac{1}{5}-i \infty}^{\frac{1}{5}+i \infty} g(s) H(s) Y^{s} d s \\
& =2 \pi i \alpha_{0} Y^{z_{0}}+O\left(Y^{\frac{1}{5}}\right),
\end{aligned}
$$

where

$$
\begin{align*}
\alpha_{0} & =\frac{F\left(z_{0}\right)}{\left(z_{0}+2\right)^{13}} \\
& =\frac{\zeta_{K}\left(z_{0}\right) \zeta_{K}^{\prime}\left(2 z_{0}\right) \zeta_{K}\left(3 z_{0}\right) \zeta_{K}\left(4 z_{0}\right) G_{1}\left(z_{0}, 0\right)\left(z_{0}-1\right)^{2}\left(2 z_{0}-1\right)^{2}\left(3 z_{0}-1\right)^{2}\left(4 z_{0}-1\right)^{2}}{\left(z_{0}+2\right)^{13}} . \tag{2.6}
\end{align*}
$$

By (2.6), we can evident that

$$
|V(Y)| \gg\left|Y^{z_{0}}\right|=Y^{\frac{1}{4}}
$$

as $Y \rightarrow \infty$. On the other hand, by (2.5), we can obtain

$$
|V(Y)|=\left|\frac{1}{Y} \int_{1}^{Y} E_{0}(x) \omega\left(\frac{Y}{x}\right) d x\right| \ll \frac{1}{Y} \int_{1}^{Y} E_{0}(x) d x .
$$

Consequently, for $Y \rightarrow \infty$, we have

$$
\frac{1}{Y} \int_{1}^{Y}\left|E_{0}(x)\right| d x \gg Y^{\frac{1}{4}}
$$

## 3. Proof of Theorem 1.1

Now we prove Theorem 1.1. From Proposition 2.3, we get

$$
\begin{equation*}
\sum_{N(2) \leq x} \log (\gamma(\mathfrak{A}))=\rho_{K} x \log x+c_{1} x+c_{2} x^{\frac{1}{2}}+c_{3} x^{\frac{1}{3}}+E_{0}(x), \tag{3.1}
\end{equation*}
$$

with

$$
\int_{1}^{Y}\left|E_{0}(x)\right| d x \gg Y^{\frac{5}{4}}
$$

where $Y \rightarrow \infty$. Using partial integration, we get

$$
\begin{aligned}
\sum_{N(\mathfrak{2 l}) \leq x} \lambda^{-1}(\mathfrak{A})= & \sum_{2 \leq N(\mathfrak{l}) \leq x} \frac{\log \gamma(\mathfrak{H})}{\log N(\mathfrak{A})}=\int_{2^{-}}^{x} \frac{1}{\log t} d\left(\sum_{2 \leq N(\mathfrak{2}) \leq t} \log \gamma(\mathfrak{A})\right) \\
= & \rho_{K} x+C_{1} \int_{2}^{x} \frac{1}{\log t} d t+C_{2} \int_{2}^{x} \frac{t^{-\frac{1}{2}}}{\log t} d t \\
& +C_{3} \int_{2}^{x} \frac{t^{-\frac{2}{3}}}{\log t} d t+R_{0}(x),
\end{aligned}
$$

where

$$
\begin{equation*}
R_{0}(x)=\int_{2}^{x} \frac{d E_{0}(t)}{\log t}=\int_{2}^{x} \frac{E_{0}^{\prime}(t)}{\log t} d t \tag{3.2}
\end{equation*}
$$

Taking the derivative of the above formula we get $E_{0}^{\prime}(x)=R_{0}^{\prime}(x) \log x$. Integrating both sides with respect to $x$, we have

$$
\begin{equation*}
E_{0}(x)=\int_{1}^{x} R_{0}^{\prime}(t) \log t d t=R_{0}(x) \log x-\int_{1}^{x} \frac{R_{0}(t)}{t} d t \tag{3.3}
\end{equation*}
$$

And also

$$
\begin{align*}
\int_{1}^{Y}\left|E_{0}(x)\right| d x & =\int_{1}^{Y}\left|R_{0}(x) \log x-\int_{1}^{x} \frac{R_{0}(t)}{t} d t\right| d x  \tag{3.4}\\
& \leq \int_{1}^{Y}\left|R_{0}(x) \log x\right| d x+\int_{1}^{Y}\left|\int_{1}^{x} \frac{R_{0}(t)}{t} d t\right| d x
\end{align*}
$$

We prove Theorem 1.1 by contradiction. Suppose that

$$
\begin{equation*}
\int_{1}^{Y}\left|R_{0}(x)\right| d x \leq \epsilon \frac{Y^{\frac{5}{4}}}{\log Y}, \tag{3.5}
\end{equation*}
$$

where $\epsilon$ is a small constant. Thus we have

$$
\begin{align*}
\int_{1}^{Y}\left|E_{0}(x)\right| d x & \leq \log Y \int_{1}^{Y}\left|R_{0}(x)\right| d x+\int_{1}^{Y}\left(\int_{1}^{x} \frac{R_{0}(t)}{t} d t\right) d x \\
& \leq \epsilon Y^{\frac{5}{4}}+\int_{1}^{Y}\left(\int_{1}^{x} \frac{\left|R_{0}(t)\right|}{t} d t\right) d x \tag{3.6}
\end{align*}
$$

We use dyadic arguments to the inner integral to get

$$
\begin{align*}
\int_{1}^{x} \frac{\left|R_{0}(t)\right|}{t} d t & =\sum_{j=0}^{\log \frac{x}{2}-1} \int_{2^{-j-1} x}^{2^{-j} x} \frac{\left|R_{0}(t)\right|}{t} d t  \tag{3.7}\\
& \leq \sum_{j=0}^{\log x} \frac{1}{2^{-j-1} x} \int_{2^{-j-1} x}^{2^{-j} x}\left|R_{0}(t)\right| d t .
\end{align*}
$$

By (3.5), we can obtain

$$
\begin{equation*}
\int_{1}^{x} \frac{\left|R_{0}(t)\right|}{t} d t \leq \sum_{j=0}^{\log x} \frac{\epsilon}{2^{-j-1} x} \cdot \frac{\left(2^{-j} x\right)^{\frac{5}{4}}}{\log \left(2^{-j} x\right)} \leq \epsilon x^{\frac{1}{4}} . \tag{3.8}
\end{equation*}
$$

Inserting (3.8) into (3.6), we have

$$
\int_{1}^{Y}\left|E_{0}(x)\right| d x \leq \epsilon Y^{\frac{5}{4}}
$$

which contradict with Proposition 2.3. Then we have

$$
\int_{1}^{Y}\left|R_{0}(x)\right| d x=\Omega\left(\frac{Y^{\frac{5}{4}}}{\log Y}\right) .
$$

## 4. Conclusions

For each integral ideal $\mathfrak{M}$, it is essential to measure the multiplicity of its prime ideal factors. In this paper, we define $\lambda(\mathfrak{A}):=\frac{\log N(\mathfrak{1})}{\log \gamma(\mathfrak{( 2 )}}$ to be the index of composition of $\mathfrak{A}$ and consider how well the main term of $\sum_{N(2) \leq x} \lambda^{-1}(\mathfrak{A})$ approximates it, that is, what can be said about $\Omega$-results for the index of composition of integral ideal. The results imply that the average order of $\lambda(\mathfrak{H})$ is $\rho_{K}$.

## Acknowledgments

The authors would like to express their gratitude to the referee for his or her careful reading and valuable suggestions. This work was supported by National Natural Science Foundation of China (Grant Nos. 11771256, 11971476).

## Conflict of interest

The authors declare there is no conflict of interest.

## References

1. B. C. Berndt, The number zeros of the Dedekind zeta function on the critical line, J. Number Theory, 3 (1971), 1-6.
2. J. B. Conrey, A. Ghsoh, S. M. Gonek, Simple zeros of the zeta function of a quadratic number field. I, Invent. Math., 86 (1986), 563-576.
3. J. B. Conrey, A. Ghsoh, S. M. Gonek, Simple zeros of the zeta function of a quadratic number field. II, In: Analytic number theory and Diophantine problems, Birkhauser Boston, (1987), 87-114.
4. L. Dong, H. Liu, D. Zhang, Zero density estimates for automorphic L-functions of $G L(m)$, Acta Math. Hung., 148 (2016), 191-210.
5. M. N. Huxley, Exponential sums and lattice points, II, Proc. London Math. Soc., 3 (1993), 279-301.
6. H. Lao, H. Wei, $\Omega$-result on coefficients of automorphic L-functions over sparse sequences, $J$. Korean Math. Soc., 52 (2015), 945-954.
7. Y. Lau, K. Tsang, $\Omega$-result for the mean square of the Riemann zeta function, Manuscripta Math., 117 (2005), 373-381.
8. W. Müller, On the distribution of ideals in cubic number fields, Monatsh. Math., 106 (1988), 211219.
9. W. G. Nowark, On the distribution of integer ideals in algebraic number fields, Math. Nachr., 161 (1993), 59-74.
10. W. G. Nowak, Primitive lattice points inside an ellipse, Czech. Math. J., 55 (2005), 519-530.
11. B. Paula, A. Sankaranarayanan, On the error term and zeros of the Dedekind zeta function, J. Number Theory, 215 (2020), 98-119.
12. J. Pintz, On the distribution of square-free numbers, J. London Math. Soc., 28 (1983), 401-405.
13. X. Wu, Z. Zhao, On simple zeros of the Dedekind zeta-function of a quadratic number field, Mathematika, 65 (2019), 851-861.
14. Y. Ye, D. Zhang, Zero density for automorphic L-functions, J. Number Theory, 133 (2013), 38773901.
15. D. Zhang, W. Zhai, On the mean value of the index of composition of an integral ideal, J. Number Theory, 131 (2011), 618-633.
16. D. Zhang, W. Zhai, On the mean value of the index of composition of an integral ideal (II), J. Number Theory, 4 (2013), 1086-1110.
17. D. Zhang, M. Lü, W. Zhai, On the mean value of the index of composition of an integer (II), Int. J. Number Theory, 9 (2013), 431-445.
18. Y. Sui, W. Zhai, D. Zhang, $\Omega$-Result for the index of composition of an integer, Int. J. Number Theory, 14 (2018), 339-348.
© 2021 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0)
